
Maths reasoning questions

Hint: column method 
1. 366 + 567 = 



2. 876 + 234 =



3. 986 + 342 =



4. 546 + 986 =



Hint: add the 0

5. 12 x 10 = 



6. 45 x 100 = 


7. 87 x 1000 =

Can you solve the following sums and write the inverse?

8. 3 x 5 =



9. 6 x 7 =



10. 9 x 8 = 



11. 8 x 4 = 




12. 32 x 2 = 


Can you solve these questions and explain your answer?
13. 
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15. 
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20. Can you show the inverse of this sum?
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21. 
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22. 
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23. What number is halfway between 18 and 24?




24. 
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25. Write the number 2345 in words
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Place these numbers in order, starting with
the smallest.

1,250 550 2,150
1,040 22,005 5,005

smallest
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There are 15kg of bricks in each pack.

How many kilograms of bricks are in 5
packs?

ke
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The numbers in this sequence increase
by 7 each time.

53 60 81 88

Write in the missing numbers.
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Mark buys a magazine for £2.10 and
achocolate bar for 85p.

He pays with a £5 note.

How much change does Mark get?

£
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There are 6 pencils in each pack.
There are 33 children in Toucan class.
The teacher needs to buy two pencils
for each child.

How many packs of pencils does the
teacher need to buy?

packs
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669+6=7 654 +5=

695-20=7?

663-5=7 654-5=7

Circle the two number sentences above
that have the same answer.
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1,247 + 2,791 = 4,038 |
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‘A bookshop sells books at two prices.
Hardback books cost £12.50
Paperback books cost £5.25

o [
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Tom plays the flute.
He practises for 34 minutes every day.

How many minutes does he practise in one week?
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Look at these numbers: 5634 4356 3654 6435
In which number is the figure 4:

(a) ahundred? I:I ‘
(b) athousand? :l ‘
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Balloons come in packets of six.

For her party, Eden needs 36 balloons.

How many packets does she need?

packets





